
11�04�07 http://www.freenetpages.co.uk/hp/alan.gauld/spanish/tutrecur.htm #1RecursividadNota:Esteesuntemabastanteavanzado,yparalamayorpartedelasaplicacionesnoseránecesarioqueconozcasabsolutamentenadadeél.Enalgunasocasionesestanútilquesevuelveinvaluablesuutilización,porestarazónloincluyoenestetutorialparaqueloconozcas.Porfavor,noenloquezcassinoloentendésdeentrada.¿Dequésetrata?Apesardeloquedijeantesdequelosbuclessonunodelospilaresfundamentalesdelaprogramación,sinembargo,esposibleconstruirprogramassinutilizarlos.AlgunoslenguajescomoLisp,notienenunaconstrucciónexplícitadebuclestalcomoFOR,WHILE,etc.,sinoqueutilizanunatécnicadeprogramaciónconocidacomorecursividad.Estaresultaserunatécnicamuypoderosaparalasolucióndedeterminadosproblemas,asíqueahoraledaremosunvistazo.Larecursividadsimplementesignificaaplicarunafuncióncomopartedeladefinicióndeesamismafunción.Laclavedefuncionamientoesqueobligatoriamentedebeexistirunacondiciónterminalconelobjetodequelafunciónsebifurquehaciaunaresoluciónnorecursivaenalgúnpunto.Delocontrario,lafunciónentraenunbucleinfinitoynuncafinaliza.Veamosunejemplosencillo.Lafunciónmatemáticafactorialsedefinecomoelproductodetodoslosnúmeroshastaelargumentoinclusive.Elfactorialde1es1.Sipensamosunpoco,nosdaremoscuentadequetenemosotramaneradeexpresarestafunción:elfactorialdeNesigualaNveceselfactorialdeN�1.Porlotanto:1!=12!=1x2=23!=1x2x3=2!x3=6N!=1x2x3x....(N§2)x(N§1)xN=(N§1)!xNEnPythonpodemosexpresarestoasí:deffactorial(n):ifn==1:return1else:returnn*factorial(n§1)DadoquerestamosunodeNcadavezycomprobamossiesigualauno,lafunciónnoesinfinitaypuedecompletarsecorrectamente.Escribirlafuncióndelfactorialsinutilizarlarecursividadimplicaeldesarrollodemuchomáscódigo.Necesitamoscrearunalistadetodoslosnúmerosdesdeel1alNyluegoiterarenlalistamultiplicandoeltotalactualporelitemsiguiente.Podésprobarhacerlocomounejercicioycomparáloconlafuncióndefinidamásarriba.RecursividadenlaslistasElotrocampodondelarecursividadesmuyútilesenelprocesamientodelistas.Siemprequepodamosevaluarsiunalistaestávacíaygenerarunalistamenossuprimerelemento,podremosusarfácilmentelarecursividadenellas.Pensáenelcasotrivialdetenerqueimprimircadaelementodeunalistadecadenasusandounafunción"imprimeLista":defimprimeLista(L):ifL:printL[0]#acercade[1:]releéenelManualdeReferenciadePythonacercadelatécnicade"slicing"imprimeLista(L[1:])SiLesverdadero�esdecir,noestávacía�imprimimoselprimerelementoyluegoprocesamoselrestodelalista.Paraunalistasimpleestasoluciónesbastantetrivial,yaquepodríamosresolverlaconunbuclecomún.Perosilalistafueramuycomplejaycontuvieraotraslistasdentrodesímisma,lasituaciónseríamuydiferente.Sipodemosevaluarsiunitemesunalista,fácilmentepodremosllamaraimprimeLista()demanerarecursiva.Delocontrario,simplementelaimprimimos.Veamosunpococómofuncionaesto:defimprimeLista(L):#siestávacíanohacemosnadaifnotL:return#siesunalistallamamosaimprimeListaparaelprimerelementoiftype(L[0])==type([]):imprimeLista(L[0])else:#noesunalista,simplementeimprimimosprintL[0]#ahoraprocesamoselrestodeLprintList(L[1:])Siintentáshacerestoutilizandounbucleconvencional,tedaráscuentaquenoessencillo.Larecursividadpermiterealizartareasmuycomplejasdeunamanerabastantemássimple.



11�04�07 http://www.freenetpages.co.uk/hp/alan.gauld/spanish/tutrecur.htm #2Sinembargo,hayunpequeñoproblema(¡comosiempre!):larecursividadsueledemandarmuchamemoriacuandoseutilizangrandesestructurasdedatos.Porestarazón,avecesesmásseguroutilizarlosprocedimientosconvencionales,sobretodosisedisponedepocamemoriaolasestructurasdedatossonmuygrandes.Bueno,ahoraharemosotrosaltohacialodesconocidoalintroducirnosenlaProgramaciónOrientadaaObjetos.AnteriorPróximaContenidoSitenéssugerenciasodudaspodésenviarunemaileninglésa:alan.gauld@btinternet.comoenespañola:manilio@xoommail.com


